Algebra 2 Hotes Hame: R VIIN
Section 2.3 - Graphing Linear Functions J

Meteorologists are interested in the rate at which a hurricane is approaching land.
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Notice that the vrate of cha VL%& is Contstont . The hurricane moves
) miles closer every | hour(s).
Functions with a constant rate of change are called \\near functions. A
livnear function can be written in the form f(x)=mx+b, where x is the

‘\\!\&QJ‘)‘Q V\d ent variable and m and b are COWS+&ﬁ+S . The grqph of a linear
function is a straight line made up of the set of all points that satisfy y = f(x).

Example 1 Determine whether each data set could represent a linear function.
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The constant rate of change for a linear function is its slo ? e . The
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<l pe of a linear function is the ratio i 1n_f (x) ,or — 158 . The slope
' change in x A
of aline is the same between any two points on the line. You can graph lines by using the slope and a point.
Example 2:  Graph each line. ‘%
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Recall from Geometry that two points determine a line. Often the easiest points fo find are the points

where a line crosses the axes. The
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line crosses the W= %1 8 . The

where the line crosses the X — 0% S

is the y-coordinate of a point where the

X =N ‘\‘ﬂ-"f(‘e? Y is the x-coordinate of a point

Example 3:  Find the intercepts of each line and then graph the line.
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Linear functions can also be expressed as linear equations in the form y =mx+ 5. When a linear function
is written in the form y =mx + b , the functions is said to be in _S\ope - '\W‘!‘E‘—TCQ?'\'fOf’m because

. 1]
m is the slo Qe and b isthe _ \\ = n+texc g+ . Notice that slope-intercept
form is the equation solved for % ; b
Example 4: Write each function in slope-intercept form. Then graph.
¢ 3x+y=5 b. 5x=15y+30
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Example 5: Determine if each line is vertical or horizontal. Then graph.
a. x=-3
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